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Accounting
Exam 7.3.2015 4 hours
Equipment: Calculator

Q 1, Multiple Choice: a correct answer gives 1 point

Identify the choice that best completes the statement or answers the question.

\J\./The primary objective of management that the information will provide.

accounting is
a. to provide sharcholders and potential
investors with useful information for decision
making.
b. to provide banks and other creditors with
" information useful in making credit decisions.
" ¢. to provide management with information
useful for planning and control of operations.
d. to provide the relevant taxation authorities
with information about taxable income.

)ﬁ_ Comparing actual quality costs with planned

quality costs is an example of
- i

b. controlling.

c. performance evaluation,

d. bothbandc.

‘Which of the following statements is untrue

regarding a probability distribution?

a. it will show all possible outcomes and their
probabilities

b. it can be used to provide an indication of the
risk of undertaking a possible course of
action.

c. it will show the average outcome that is
expected to occur

d. it will enable an estimate of the most likely
outcome to be derived

2 The joint probability of two events occurring

together is:
a. the sum of the probabilities of the two evenls.

b. the higher probability of the two events.

¢. the average of the probability for the two
events.

d. the probability‘of one event times the
probability of the other event.

The maximum amount that is worth paying to

obtain additional information consists of:

a. the expected price of the information.

b. the difference between the expected value if
the information is acquired compared with
the expected value with the absence of the
information.

c. anamount equal to the most likely benefit

d. an amount equal to the highest benefit that
the information will provide.

Under what circumstances can risk reduction

NOT be achieved from combining

investments?

a. Where the projects are perfectly positively
correlated

b. Where the projects are perfectly negatively
correlated

c. Where the projects have low levels of
positive correlation

d. Where the projects have low levels of
negative correlation

,\'F. Firms may select projects with short paybacks

because
a. projects with longer paybacks may be riskier.

b. - shorter paybacks may help reduce liquidity
problems.

¢. ifthe risk of obsolescence is high, the firimn
may want to recover the funds rapidly.

d. All of the above are correct.

What is a weakness of the payback method?

a. It emphasizes projects with possible liquidity
problems. _

b. It ignores the profitability of investments
beyond the payback period.

3 -Hemrteased in conjunction with discounted
cashfiewmsthods.

d. both a and b above

A firm is evaluating a project that has a net

present value of $0 when a discount rate of 8

per cent is used. A discount rate of 10 per cent

will result in

a negative net present value.

a positive net present value.

a net present value of $0.

The question cannot be answered based upon

the information provided.
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Short Answers

Q.2
preferred if used as the only criterion?
10p
Q. 3. Describe zero-based budgeting.
10 p
Q.4. Compare and contrast decentralization and centralization.
10 p
Q. 5. Explain why an organization should not use only financial measures to monitor performance.
10p
Problems
Q. 6. Barker Production Company is considering the purchase of a flexible manufacturing system. The after-tax cash
benefits/savings associated with the system are as follows:
Decreased waste -$ 75,000 }:ﬂg/o""
Increased quality 100,000 -~ _
Decrease in operating costs 62,500 7
Increase in on-time deliveries 12,500
The system will cost $750.000 and will last ten yeags. The company’s cost of capital is 10 per cent.
Required:
a.  What is the payback period for the flexible manufacturing system?
b. What is the NPV for the fiexible manufacturing system?
¢. What is the IRR for the flexible manufacturing system?
10p
Q.7. Budgeted sales for the second quarter of the year for Reuben Company are as follows:

Compare the various quantitative models used to evaluate capital budgeting proposals. Which models are

Budgeted Sales

April $400,000
May 200,000
June 600,000

The company normally collects 60 per cent in the month of sale and 30 per cent in the month following the
sale. Ten per cent of all sales are uncollectible and are written off in the following month.

The balance in accounts receivable at April 1 was $200,000, which represents 40 per cent of March sales.

Required:
Prepare a schedule of cash collections on accounts receivable for the second quarter.

25000 (4 HO) 250 000
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